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QUESTION 1

A client sends a required SOAP header as a SOAP message. The server-side process determines that information in
the header is invalid and generates a SOAP fault. What is the appropriate fault code for this type of SOAP fault?

A. Client

B. Server

C. MustUnderstand
D. VersionMismatch
E. HeaderError

F. InvalidHeader

Correct Answer: A

QUESTION 2

A team of developers is describing a set of endpoints in their new SOA application. Given the WSDL extract:

Which statement is true about this WSDL extract?

A. The extract is WS-I Basic Profile 1.1 compliant because both port element names are different.

B. The extract is NOT WS-I Basic Profile 1.1 compliant because both port elements point to the same location.

C. The extract is WS-I Basic Profile 1.1 compliant because both port elements point to different binding elements.
D. The extract is NOT WS-I Basic Profile 1.1 compliant because it contains two port elements in the same service.
E. The extract is WS-I Basic Profile 1.1 conformant because both port element names are different.

F. The extract is WS-I Basic Profile 1.1 conformant because the port, binding, and service element combinations are
unigue.
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Correct Answer: B

QUESTION 3

Which two statements are true about digital signatures applied to an XML document? (Choose two.)
A. The receiver verifies that the message matches the digital signature using its own private key.

B. The receiver can use an XML Digital Signature for non-repudiation of unsigned data.

C. The sender creates a digital signature using its own private key and sends that signature along with the original
document.

D. The sender creates a digital signature using its own public key and sends that signature along with the original
document.

E. The receiver verifies that the message matches the digital signature using the sender\\'s public key.

Correct Answer: CE

QUESTION 4

Which Java type can be used to represent arbitrary XML data in a JAX-WS service endpoint interface?
A. javax.xml.soap.SOAPNode

B. javax.xml.soap.SOAPPart

C. javax.xml.soap.SOAPElement

D. javax.xml.soap.SOAPEXxception

E. javax.xml.soap.SOAPMessage

F. javax.xml.soap.Node

Correct Answer: C

QUESTION 5

A developer created a Web service client that sends requests to the company\\'s inventory service. The quality
assurance team reports a problem during testing. The client does not work in some cases and the QA team reports that
the client is sending malformed SOAP messages. The software is returned to the developer for resolution.

What is the result?

A. One or more class cast exceptions are returned in a SOAP message.

B. A SOAP fault that surfaces as a HTTPException because SOAP is serializable.

C. A SOAP fault surfaces as a SOAPFaultException.
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D. A generic exception results because Java details are not to be mingled with SOAP.

Correct Answer: C
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